(A% 1) s
B AR B+ =5BfR)
I X fi =
(2D—) RERRIN SRS
I X H
H : ). H : e
Ji F A R B O S A 118, 367 o8 B AR A P 202, 626
AHEEE NS¢ 44, 589
K3 fi % JT# 6, 322
PR i A% 16,971 PRI A 0
FERE « S ARG 14, 620 PRI A 531
FRAZAR - FRf < SER N 1,441
WYy 2, 351 MR AR A 2 11, 521
Z Ot i SEv=E ¢ 48,118
il VA 22 368 it ¢ 2, 224 o8B ZERE A 0
7S] VEVE IR LA 0
SEE] VRIS BRETHE N - PR 88, 087
Z Dt 2, 224 VIR A2 0
fir S0 & h % s 74, 326 - b S ik R 0
TP PR 8, 246 Z DAt 2,017
fof SUIE & 58, 739 Tl B 4 R R 4 1,099
FE 7,341 il PRSI A 4 0
PNZELSEE FE 2 0
Jifk %5 M ¢ 4, 342 TH il 918
PR A5 Bt ¢ 12, 067 ZOfth 0
St 12, 067 8 BLR AR R E 0
WA Y INfE
Z Ot KT IR
PRV e iRk JLA
JRE HEW) AL B 53¢ Fl+
VRV BR BB % B WS T
EREERESY/ T 476 Toé
AR 7K 1, 646 Fl+
ARfE B - R saliih 0
Gk TLA
el Fl-
T —IREFE DN 34, 820




(ZD—) RERERIN SRS

X
4 A % ZH
% Az 5= 554 =
i : (F) # (FM)
=)
Z DAt 6,315
5 6, 542
K38 5 R R 6, 542
bR ECE
PENT SR F PR
TR
[ JB 3 M 4 531
WIS R R 531
S EME IH A 4 0
BRI TS84
F DAt 0
B« HHETA S 4 0
ZIRE AL 0
ZARE A A
PRIBBR BT A 4
sk
INE 0
SEEE A
EEMWE T
W PETEFL A
F D, 50, 724
Fil X4 4> 0
]+ 0
R 0
T4 0
= BB 1, 301
AL T 0
DRI CEIN 2, 754
PR 4 0
PR YN 0
BITAF JE fd N4 0
ZOfth 46, 669
—REEE D B DALY S 61, 282
& 5 237, 446 & 237, 446




(BIHE 2) e e P
(D) HEBRBERINEHRE

Iz A X &
[l o 2 M 4 16, 000 AR PR A 53, 264
FEA X 16, 000 N2 28, 739
MR i R 0 IR ¢ 3, 467
BREEHaRR - PRAiEk 0 A 21, 058
WL« BT S H 4 180, 109 BNt S A 2 114, 179
FEAR N7 102, 570 B FEAHESE 30, 000
MR i R 39, 535 B A 84,179
BREEHaRR - PRAiEk 38, 004 R it 3 46, 257
A iR 0 B AN S 0
XA A 0 B3 S 4 46, 257
BN 0 BRETHEAR - PRt A i 2 33, 090
o i 0 IR = STk 0
BRETHERR - Prafiak 0 B F2E S 4 33, 090
JE A Jite 5% 0 JE A i R v 0
Ny 0 VEZE M 2 0
T R B4
BREEMIER - PR R Z DAt 0
JEAE Jii % A B 4 155 4
(=3 FeATHIE B
Z DAth TR LHEE
AT oo (R 4 SRR B PR A MR B 4 0
Z Dt 0 N =y 0
REFLIR A2 FEAR it 7% 0
ARERTE D FAWIA JLAR
FeATHIE B R Fil
ER e T R 0
AR D O A4 TLA
ZREFEIA F7-
VRV RS i A & BEEHERY - (AR 0
JLA




(ZD =) HEBRBERINEHRE

I A X &
—REE DD DN 50, 681 F+
FEA R 35, 668 JEAE it 7% 0
T i 5 14, 420 JLAE
BRETAEAN - RN 593 Fl7
JE A i 0 (=3 0
TEEEM 0 TeA
& 4 F+
FA 4 Z D 0
Z Dt TLAR
Fl7-
— TS O
= i 246, 790 = i 246, 790




